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MODEL PAPER
d{kk–XI

tho foKku (BIOLOGY)
le; % 3 ?kaVs $ 15 feuV (vfrfjDr) ] [ iw.kk±d % 70
Time : 3 Hrs. + 15 Minute (Extra)] [Total Marks : 70

lkekU; funsZ'k (General Instructions) :
lHkh iz'u vfuok;Z gSa A  (All Questions are compulsory)
xyr mÙkj ds fy, fdlh rjg dh dVkSrh ugha gksxhA (There is No negative marking for any wrong answer.)
iz'u&i=k nks [k.Mksa esa gS A (Questions are in two sections)

[k.M& I   (SECTION-I)
oLrqfu"B iz'u (Objective)

dqy vad (Total Marks) µ 28

dqy iz'uksa dh la[;k (Total No. of Questions) µ 25

[k.M& II   (SECTION-II)
xSj&oLrqfu"B iz'u (Non-Objective)

dqy vad (Total Marks) µ 42

y?kq mÙkjh; iz'u (Short Answer type) µ 11 (izR;sd 2 vad)

nh?kZ mÙkjh; iz'u (Long Answer type) µ 04 (izR;sd 5 vad)

4- dqN nh?kZ mÙkjh; iz'uksa esa vkarfjd fodYi Hkh fn, x, gSa A vki oSls iz'uksa esa miyC/ fodYiksa esa ls fdlh ,d iz'u dk
gh mÙkj nsa A
(There are internal options is some of the long answer type questions. In such questions you have to answer
any one of the alternative.)

5- ;FkklaHko lHkh iz'uksa dk mÙkj viuh gh Hkk"kk esa nsa A
(Answer should be in your own language.)

6- ijh{kk ds nkSjku dydqysVj lfgr fdlh Hkh rjg dk bysDVªkWfud la;a=k (;Fkk eksckby] istj bR;kfn) dk iz;ksx loZFkk oftZr gS A
(No electronic gadgets like calculator, call phone, pager are allowed during exam.)

7- oLrqfu"B ç'uksa dk mÙkj fn, x, vksñ ,eñ vkjñ lhV esa mi;qDr fodYi dks uhys ;k dkys isu ls iwjh rjg Hkj dj nsa A
(mnkgj.k ds fy, ;fn mÙkj (c) gks rks uhys ;k dkys isu ls ,sls fpfÉr djsa
(The answer of objective type question is to be given on supplied OMR sheet by completely darking the
appropriate answer option. For exmple if answer is (c) the you should fill it as shown by blue/black pen.

 (a)  (b)  ( ) (d)
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MODEL SET—I

SECTION–I
oLrqfu"B iz'u (OBJECTIVE  QUESTIONS) [28 Mark

funs Z'k % çñ lañ 1 ls 22 rd ds ç'uks a es a pkj fodYi fn, x, gSa] ftuesa ls ,d lgh gS A lgh fodYi dk
pquko mÙkj rkfydk esa fpfÉr djsa A 1 × 22 = 22

Instruction : Q. No. 1 to 22 : In the following questions there are only one correct answer.
You have to choose that correct answer.

1- ,d dksf'kdh; izk.kh ds fy, izksfVlVk 'kCn dk bLrseky fdlus fd;kµ

(a) fyLVj (b) ikWLpj (c) gSdy (d) dksp
Who proposed the term protista for unicellular organism.
(a) Lister (b) Posteur (c) Hacckel (d) Koch

2- ftu izkf.k;ksa esa ikS/kksa rFkk tUrqvks nksuksa ds xq.k ik, tkrs gSaA
(a) ikjkehfl;e (b) ;qfXyuk (c) ekbdksIyktek (d) cSDVhfj;k
Organism having characteristic of both plant and animal
(a) Paramecium (b) Euglena (c) Mycoplasma (d)  Bacteria

3- izksVkstksvk esa dkWuVªksDVkby oSD;qy dk mi;ksx bl dk;Z esa gksrk gS A
(a) iztuu (b) yksdkseks'ku (c) ikpu (d) vkWLeksjsX;qys'u
Contractile vacuole of Protozoa takes parts in
(a) Reproduction (b) Locomotion (c) Digestion (d) Osmoregulation

4- ljlksa dk Qy gS %&
(a) flfydk (b) flilsyk (c) uV (d) ,fdu
Fruit of Mustard is
(a) Siliqua (b) Cypsela (c) Nut (d) Achene

5- dksZu fodflr :i gS %&
(a) tM+ (b) dyh (c) ruk (d) iÙkk
Corn is modification of
(a) Raoot (b) Bud (c) Stem (d) Leaf.

6- ^U;qfDy;l* 'kCn fdlus j[kk \
(a) czkmu (b) QkWuVkuk (c) ckseSu (d) xkWYth
The term Nucleus  was coined by
(a) Brown (b) Fontana (c) Bowman (d) Golgi.

7- flfy;k vkSj Q~ykftyk fuEu ls curs gS \
(a) ekbØksVSO;qYl (b) ekbØksfQykesaV (c) ekbØksQkbfczYl (d) ekbØksfoykbZ
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Cilia and flagella are composed of
(a) Microtubules (b) Microfilaments (c) Microfibrils (d) Microvilli

8- lsehijfe,cy esEcszu ls ty izokg gksus ls fuEufyf[kr gksrk gS%&
(a) okWyizs'kj (b) l{k.kizs'kj (c) vkleksfVd izs'kj (d) Vjxjizs'kj
Movement of Water through semipermeale membrane produces.
(a) Wall pressure (b) Suction pressure (C) Osmotic pressure (d) Turger pressure.

9- ekuo ;d`r dk Hkkj gS %&
(a) 6-0 fdyksxzke (b) 5-0 fdyksxzke (c) 3-0 fdyksxzke (d) 1-5 fdyksxzke
Weight of human liver is
(a) 6.0 Kg.  (b) 5.0 Kg. (c) 3 : 0 Kg.  (d) 1.5 Kg.

10- izfrfnu bruh ek=kk esa Fkwd dk mRltZu gksrk gS %&
(a) 330 feyh- (b) 550 feyh- (c) 750 feyh- (d) 1100 feyh-
Amount of Saliva secreted per day is–
(a) 330 ml (b) 550 ml (c) 750 ml (d) 1100ml

funs Z'k % iz'u la[;k 11 ls 15 rd fuEufyf[kr iz'uks a esa nks dFku fn, x, gSaA dFku&I ,oa dFku&II ls fn;s
x;s dFkuks a ds vk/kkj ij viuk mÙkj nsaA

Instructions : Q. No. 11 to 15  In the following questions there are two statements. Statement-
I follows Statements-II. You have to go through these statements and mark your
answer from the given questions.

(a) vxj nksuksa dFku lgh gS vkSj dFku II dFku I dh gh O;k[;k gSA
If both the statement are true & statement II is the correct explanation of Statement - I.

(b) vxj nksuksa dFku lgh gS vkSj dFku II dFku I dh lgh O;k[;k ugha gS A
If both the statement are true & statement- II is not correct explanation of statement - I.

(c) vxj dFku I lgh gS vkSj dFku II xyr gS A
If statement - I is true and statement - II is false.

(d) vxj dFku I xyr gS vkSj dFku II lgh gS A
If statement - I is false & statement - II is true.

11- dFku I–tc ambiet dk rkieku vf/kd gks vkSj feV~Vh esa vf/kd ek=k esa ikuh gks] ,sls esa ikS/ks vius Lenticells dh ekè;e ls
NksVs&NksVs cw¡nksa ds :i esa ikuh ckgj fudkyrs gSa A
Statement I–When the ambient temp is high and soils contain excess of water, the plants tend
to loose water, in the form of droplets from lenticels.
dFku II–Lenticel }kjk fudys ikuh ds deh dh nj dks tM+ dk ncko  O;ofLFkr djrk gS A
Statement II– Root pressure regulate the rate of loss of water from lenticels.

12- dFku I–Meiosis ds nkSjku Genetic inkFkZ dk vknku&iznku gksrk gS A
State I–Exchange of genetic material occurs during meiosis.
dFku II–Meiosis esa Chaisma dk fuekZ.k gksrk gS A
Statement II–There is a chaisma formation in meiosis.

13- dFku I–Øksekstkse esa ftUl dk vkoktknh dh ckjackjrk nksuksa ftUl ds chp dh nwjh ds lekuqikrh gS A
Statement I–Frequency of crossing over in a chromosome is directly  proportional to the distance
between two genes.
dFku II–Chromosome esa ,d thu ,d nwljs thu dh vkoktkgh dk ckf/kr djrk gSA
Statement II–Crossing over at point on a chromosome discourage the occurence of another
crossing over in the vicinity.
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14- dFku I–cSDVhfj;k tUrqvksa ij thoh curk gS vkSj chekjh mRiUu djrk gS A
Statement I– Bacteria parasitise animals and cause disease.
dFku II–blfy, ikS/kksa esa thok.kq tfur jksx ugh gksrs gS A
Statement II–Therefore, plants do not have bacterial disease.

15- dFku I–cqxsucsfy;k esa Qwyksa ds jax jaxhu bracts ds dkj.k gksrk gS A
Statement I–The Colour of flowers in Bougainvillia is due to the coloured bracts.
dFku II–cqxucsfy;k Qqyksa dk vkdkj ouLifr txr esa lcls cM+k gksrk gSA
Statement II–The flowers of Bougainvillia are largest among the plant Kingdom.

funs Z'k % iz'u la[;k 16 ls 18 rd fuEufyf[kr iz'uks a esa ,d ls T;knk lgh mÙkj gks ldrs gS aA vkidks lHkh lgh
mÙkjks a dks fpfUgr djuk gSA

Instructions :  Question No. 16 to 18 In the following question there may be more than
one correct answer. You have to mark all the correct options.

16- fuEufyf[kr esa ls dkSsu izkFkfed tuukax gS %&
(a)  LØksVe (b) ;ksfu (c) f'k'u (d) v.Mk'k;
Which of the following are primary sex organs.
(a) Scrotum (b) Vagina (c) Testis (d) Ovary

17- u;h iztkfr dh mRifÙk esa fuEufyf[kr izeq[k dkjd gS %&
(a) i`FkDdj.k (b) izfrLi/kkZ (c) E;qVs'ku (d) yxkrkj ifjoZru
Factors important in the formation of new species are :-
(a) Isolation (b) Competition (c) Mutation (d)Continuous variation.

18- bE;qu izfrfØ;k fuEufyf[kr ls gksrk gS %&
(a) fyEQkslkbV~l (b) ,fMikslkbV~l (c) bE;quksXykWfofyu (d) esySukslkbZV~l
Immune response are carried out by -
(a) Lymphocytes (b) Adipocytes (c) Immunolgolobuline (d) Melanocytes.

funs Z'k % iz'u la[;k 19 ls 22 rd fuEufyf[kr iz'uks a es a fodYi gS igys pkj iz'u gS] dkWye–I ,oa dkWye–
II esa vkidks lgh fodYi dk pquko djuk gSA

Instructions :  Question No. 19 to 22 In the following questions there are two columns the
columns - I contains 4 questions, you have to watch the correct otpions.
dkWye (Column)–I   dkWye (Column)–II

19- bUMksesfVª;e (Endometrium) (a) eknk esa ;kSufØ;k dh txg (Copulation chamber in female)
20- esuksikWt (Monopause) (b) tkbxkSV ds izfrLFkkiuk dk LFkku (Site of implantation of Zygote)
21- QSyksfi;u V~;wc (Fellopian tube) (c) ekfld /keZ dh lekfIr (Cessation of menstrual cycle.)
22- oStkbuk ̂ ;ksfu* (Vagina) (d) eknk esa Fertilization dk LFkku (Site of fertibization in female.)

funs Z'k %  iz'u la[;k 23 ls 25 rd fuEufyf[kr iz'uks a es a ,d m¼j.k fn;k x;k gSA vki m¼j.k dks è;ku ls
i<+s a rFkk mlds ckn fn, x, iz'uks a dk lgh mÙkj fn, x, fodYi ls pqus aA 2 × 3 = 6

ikWfyus'ku og oks izfØ;k gS ftlea ijkxx.k ,d Qwy ds fLVXek ls mM+dj fdlh nwljs Qwy ds fLVXek esa izos'k gksrk gSA vxj ijkxdj.k
mM+dj mlh Qwy ds fLVXek esa tkrk gS rks bl izfØ;k dks lsYQ ikWfyus'ku ;k vkWVksxseh dgrs gSa A vxj ;s ,d Qqy ls fdlh nwljs ikSèkksa
ds Qwwy esa mM+dj tkrs gS rks ,slh izfØ;k dks ij ijkx.k ;k ,yksxseh dgrs gSa A lsYQ ikWfyus'ku ds fy,   bisexuality, homogamy
& cleistogamy gksrs gS A os dkjd tks Cleistogamous Qqy esa ijkx d.k Qwy ds vUnj gh ijkx.k dh fØ;k gksrh gS A ij ijkx.k
ds fuEufyf[kr dkjd gS A Dicliny, Self - Sterlity, dichogamy, heterostyly & Herkogamy ijkxd.kks dks ,d Stigma
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ls nwljs Stigma esa igq¡pkus dk dk;Z djrs gS] os gS %& gok (Anemophily) ikuh (Hydrophily) dhV (entomophily, i{kh
(orhithophily). vkSj pexknM+ (cheiropterophily)

Pollination is defined as the process of transfer of pollen grains from an anther to the stigma
of the same flower or of different flower. If the pollen grains are transferred from an anther to the
stigma of the same flower, the process is called self-pollinatioin or autogamy. If these are
transferred to the stigma of a flower on different plant it is called as cross-pollination or allogamy
For self polinatioin, bisexuallity, homogamy & clestogamy adoption are found. In cleistogamous
flower, the anthers mature and burst liberating their pollen grainsin a closed flower. The
contrivances for cross pollination are dicliny, self-sterlity, dichogamy, heterostyly and herkogamy.
 The agenices which transfer pollen - grains from anther to stigma are as follows. wind
(Anemophily), water (Hydrophily), insects (entomophily), birds (ornithophily) and bats
(cheiropterophily)

23- Salvia esa ikWfyusfVax dkjd dhV gksrs gS] ftUgsa dgrs gSa A
(a)  Anemophily (b)  Hydrophilly (c) Zoophily (d) Entomophily
In Salvia, pollinating agents are insects, known as
 (a) Anemophily (b) Hydrophilly  (c) Zoophily (d) Entomophily

24- dqN iQwy tks dHkh ugha [kqyrs mUgs  dgrs gSaA
(a)  Protrandrous (b)  Unisexual (c)  Cleistogamous (d)  Chromogamous
Some flowers which never open are called as :
(a) Protrandrous (b) Unisexual (c) Cleistogamous (c) Chromogamous

25- ijkxd.kksa dk ,d anther ls nwljs Stigma esa LFkkukarj.k dks dgrs gSa %&
(a)  Dichogamy (b)  Fertilization (c)  Syngamy (d)  Pollination
The transfer of pollen grains from anther to stigma is known as
(a) dichogamy (b) fertilization (c)  Syngamy (d) Pollination

SECTION-II
xSj&oLrqfu"B iz'u (NON-OBJECTIVE QUESTIONS) [42 Mark

y?kq mÙkjh; iz'u (Short Answer questions) :

funs Z'k % iz'u la[;k 1 ls 11 rd y?kq mÙkjh; iz'u gSaA bl dksfV ds izR;sd iz'u ds fy, nks vad fu/kZfjr gSa %
11 × 2 = 22

Instruction :  Q. No. 1 to 11 are Short Answer Type Questions. Every question is of 2 marks each.

1- thok.kq ds fofHkUu izdkjksa dk o.kZu djsa A (Describe the various forms of bacteria.)
2- Monocots vkSj Dicots es D;k varj gS \ fy[ksa A (How would you distinguish monocots from dicots.)
3- Tap root vkSj adventitionus tM+ es varj Li"V djsa A (Differentiate between tap root & advetitiious root)
4- izkFkfed Meristem D;k gS \  (What is primary meristem.)
5- tkbyse D;k gS \ (what is xylem.)
6- Radial bundle  D;k gS \ (What are radial bundles.)
7- Alb uminous cell dks ifjHkkf"kr djsa A (Define albuminous cell.)
8- Open Vascular bundle D;k gS \ (What is open Vascular bundle)



[ Bio.– 6  ]

9- ek¡lis'kh dks gM~Mh ls tksM+us okys mÙkd dk uke fy[ksa A (Name the tissue which connect musscle to a bone)
10- dspq, ds pyu ds ckjs esa fy[ksa A (Write notes on a locomotion in Earthworm).

11- Nucleus ds dk;ks± dk o.kZu djas A  (Describe the function of Nucleus.)

nh?kZ mÙkjh; iz'u (Long Answer questions) :
funs Z'k % iz'u la[;k 12 ls 15 rd mÙkjh; iz'u gSaA bl dksfV ds izR;sd iz'u ds fy, ik¡p vad fu/kZfjr gSa %

4 × 5 = 20
Instruction :  Q. No. 12-15 are of Long Answer Type Question. Every question are of 5 marks each.
12- Prokaryotic vkSj Eukaryotic cells ds chp varj Li"V djsa A (Describe differences between

Prokaryotic & Eukaryotic Cells.)
Or, Red Muscle ,oa White Muscle esa vUrj crkosa A  (Describe difference between white and red muscle.)
13- Microfilaments ij laf{kIr fVIi.kh fy[ks A (Write a note on Microfilaments.)
Or, Chloroplast  ds cukoV dk o.kZu djsa A (Describe chloroplast)
14- (Meiosis) esa prophase dh izfØ;k dk o.kZu djs A  (Describe prophase of meiosis.)
Or, Mitosiss ds fofHkUu LVst dk o.kZu djsa \ (Describe mitosis.)
15- Photosynthetic pigment ij laf{kIr fVIi.kh fy[ks A  (Write a note on phtosynthetic pigments.)
Or, Micro Tubules ij ,d uksV fy[ksa A (Write a note on  micro tubules.)

A N S W E R
SECTION–I

oLrqfu"B iz'u (OBJECTIVE  QUESTIONS)

1. (c) 2. (b) 3. (d) 4. (a) 5. (c)

6. (c) 7. (a) 8. (d) 9. (d) 10. (d)

11. (d) 12. (a) 13. (b) 14. (b) 15. (c)

16. (c, d) 17. (c, d) 18. (a, c) 19. (b) 20. (c)

21. (d) 22. (a) 23. (d) 24. (c) 25. (d)
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MODEL SET—II

SECTION–I

oLrqfu"B iz'u (OBJECTIVE  QUESTIONS) [28 Mark

funs Z'k % çñ lañ 1 ls 22 rd ds ç'uks a es a pkj fodYi fn, x, gSa] ftuesa ls ,d lgh gS A lgh fodYi dk
pquko mÙkj rkfydk esa fpfÉr djsa A 1 × 22 = 22

Instruction : Q. No. 1 to 22 : In the following questions there are only one correct answer.
You have to choose that correct answer.

1- izksVhLVk tqM+k gqvk gS A

(a) gsVªksVksfQd vkWxZfute (b) QksVkvkSVksVªksfQd (c) dheksVksfQd (d) buesa lHkh A
Protista consists of
(a) Heterotrophic organism (b) Photoautotrophs (c) Chemautotrophs (d) All of the above.

2- Contractile Vacuale ugha ik;k tkrk gS A
(a) lhfye eksYm (b) ,liksjkstkSvk (c) lkjdksMhuk (d) twQystsyk
Contracticle vacuole does not occure in
(a) Slime moulds (b) sporozoa (c)  Sarcodina (c) Zooflagellata.

3- Lateral root dk fodkl gksrk gS A
(a) bihMjehl (b) dkWVsssZDl (c) b.MksMjehy (d) ifjlkbZdy
Lateral roots develope from
(a) Epidermis (b) Cortex (c) Endoermis (d) Peryccle.

4- Hkkjro"kZ dk Bull Frog  gS &
(a) jkuk Vhxfjuk (b) jkuk bldwysaVk (c) jkuk flyHksfVdk (d) buesa lHkh
Bull Frog of India is
(a) Rana Tigerina (b) Rana Esculenta (c) Rana sylvatica (d) All of above.

5- Ligament tksM+rk gSµ
(a) Muscles dks Muscle ls (b) Muscle dks Skin ls (c) gM~Mh dks gM~Mh ls (d) Muscle dks gM~Mh ls
Ligments connect
(a) Muscle to Muscle (b) Muscle to skin (c) Bone to Bone (d) Muscle to bone

6- jkbokslkse dk lalys'ku gksrk gSµ

(a) Nucleoplasma (b) Nucleus esa (c) xksYxh ckWMh esa (d) lkbVksIykte esa
Ribosomes are synthesized in
(a)  Nucleopasm (b) Nucleolus (b) Golgiapparatus (d)  Cytoplasm.
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7- Lactose  gSµ
(a) QzwdVkst $ QzdVkst (b) Xywdkst $ Xywdkst (c) Xywdkst $ QwzDVkst (d) Xywdkst $ XysDVkst
Lactose is
(a) Fructose + Fructose (b) Glucose +| Glucose
(c) Glucose + Fructose (d) Glucose + Galactose

8- Ph. xsLVhd twldk eki D;k gSµ
(a) 15 & 20 (b) 5-0 & 6-8 (c) 7-0 & 9-0 (d) 6-0 & 8-0
Ph. of gastric juice is
(a) 15 - 30 (b) 5.0 - 6.8 (c) 7.0 - 9.0 (d) 6.0 - 8.0

9- ckby D;k gSµ
(a) LVsjksbM (b) dkWoksgkVªsV (c) izksVhu (d) foVkehu
Bile are
(a) Steroids (b) Carbohydrate (c) Protein (d) Vitamines

10- cPpksa esa nw/k ds fdrus nkWar gksrs gSa \
(a) 12 (b) 20 (c) 32 (d) 46
Number of Milk - teeth in an infant is
(a) 12 (b) 20 (c) 32 (d) 46

funs Z'k % iz'u la[;k 11 ls 15 rd fuEufyf[kr iz'uks a esa nks dFku fn, x, gSaA dFku&I ,oa dFku&II ls fn;s
x;s dFkuks a ds vk/kkj ij viuk mÙkj nsaA

Instructions : Q. No. 11 to 15  In the following questions there are two statements. Statement-
I follows Statements-II. You have to go through these statements and mark your
answer from the given questions.

(a) vxj nksuksa dFku lgh gS vkSj dFku II dFku I dh gh O;k[;k gSA
If both the statement are true & statement II is the correct explanation of Statement - I.

(b) vxj nksuksa dFku lgh gS vkSj dFku II dFku I dh lgh O;k[;k ugha gS A
If both the statement are true & statement- II is not correct explanation of statement - I.

(c) vxj dFku I lgh gS vkSj dFku II xyr gS A
If statement - I is true and statement  - II is false.

(d) vxj dFku I xyr gS vkSj dFku II lgh gS A
If statement - I is false & statement - II is true.

11- dFku I–izttu dh fØ;k ugha gksxh vxj ,d v.Mk'k; dks gVk fn;k tk;A
Statement I–The process of reproduction does not suffer if one ovary is removed.
dFku II–nwljk v.Mk'k; yEck gksdj igys v.Mk'k; dk LFkku ys ysxkA
Statement II–The other ovary enlarge to take over the function of missing  one.

12- dFku I–dhV ijkfxr iq"i esa ok;qijkfxr iq"iksa dh rqyuk esa de ijkxu curk gS A
Statement I–Entomophilous plants produce less pollen when compared to anemo-philous plants.
dFku II–dhV ijkfxer iq"iksa esa ijkxd.kksa dh cckZnh fuf'pr fn'kk esa ijkxu ds dkju de gksrh gS A
Statement II–The wastage of pollen is reduced to minimum Entomophilous plantsbec ause of the
directional pollination.
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13- dFkUk I– i`FkdiDork uj vkSj eknk tuukxksa ds fofHkUu le; ij ifjiDork dks dgrs gSa A
Statement I– Dichogamy refers to maluration of male & female sex - organ at different temes.
dFku II–;g ijijkxu ds fo:) lqj{kk gS A
Statement II–This is a safeguard against cross-Pollination.

14- dFku I–lgmidkfjrk esa nksuksa i{k ykHkkfUor gksrs gSa A
Statement I–In mutualism both the individuals are benefitted.
dFku II–nksuksa i{k bl lkgUi;Z ls ykHkkfUor gksrs gSa A  ysfdu muds lEcU/k vfodYih ugha gksrs A
Statement II–Both individual are benefitted by the association but their relationship are not
obligatory.

15- dFku I–Qyks;e eq[; laogu mRrdk gS A
Statement I–Pholen is the main conducting tissue.
dFku II–Qyks;e ds }kjk ty dk lEcgu gksrh gS A
Statement II–Pholem does the function of conduction of water.

funs Z'k % iz'u la[;k 16 ls 18 rd fuEufyf[kr iz'uks a esa ,d ls T;knk lgh mÙkj gks ldrs gS aA vkidks lHkh lgh
mÙkjks a dks fpfUgr djuk gSA

Instructions :  Question No. 16 to 18 In the following question there may be more than
one correct answer. You have to mark all the correct options.

16- ekSlst esaµ
(a) jsfM;y lhfeVªh gksrh gS (b) ,ldsYl ugha gksrk gS
(c) lsDl vax mij dh vksj fodflr gkssrs gSa (d) blesa dksbZ ugha
Mosses have
(a) Radial symmetry (b) Scales absents (c) Sex organ develope capicaly  (d) None of these.

17- fueksfu;k fdlds }kjk gksrk gS \
(a) VªkbZdksQkbVe (b) bihMjeksQkbVe (c) LVsiVksdksdl fueksfu;;k (d) gheksQhyl buQywwaxk
Pneumonia is caused by
(a) Trichophuyton (b) Epidermophyton
(c) Streptococcus preumoniae (d) Haemphilus influence.

18- xkBnkj tM+ dk iz;ksx HksthVsVhHk izksiksxs'ku esa ikS/kk esa gksrk gS A
(a) ,lizsxl (b) Mkfy;k (c) eVj (d) xzkm.M uj
Tuberous roots are used for vegetative propaga tion ion in following plants.
(a) Asparagus (b) Dahlia (c) Pea (d) Ground nut

funs Z'k % iz'u la[;k 19 ls 22 rd fuEufyf[kr iz'uks a es a fodYi gS igys pkj iz'u gS] dkWye–I ,oa dkWye–
II esa vkidks lgh fodYi dk pquko djuk gSA

Instructions :  Question No. 19 to 22 In the following questions there are two columns the
columns - I contains 4 questions, you have to watch the correct otpions.
dkWye (Column)–I dkWye (Column)–II

19- Øh"Vh (Cistenae) (a) deikbyksVªksQkbM (Camplylo trophyde)
20- vksH;qy (Vule) (b) dksyweuj lsy (Columnar all)
21- Qyks;e (Ploem) (c) lhe lsy (Sileve cells)
22- byksaxxsVsM ukfHkd (Elongated Nucleus) (d) ekbVksdksf.M;k (Mitochondria)
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funs Z'k %  iz'u la[;k 23 ls 25 rd fuEufyf[kr iz'uks a es a ,d m¼j.k fn;k x;k gSA vki m¼j.k dks è;ku ls
i<+s a rFkk mlds ckn fn, x, iz'uks a dk lgh mÙkj fn, x, fodYi ls pqus aA 2 × 3 = 6

Instructions :  Question No. 23 to 25 In the following questions followed by a paragraph,
you have to go through the paragraphs & them answer the given questions from
given choices.

larqfyr vkgkj] O;fDrxr~ LoPNrk rFkk fu;fer O;k;ke vPNs LokLFk ds fy, vko';d gS A cgqr le; ls ;ksxk 'kkjhfjd vkSj ekufld
LokLF; ds fy, bLrseky gksrk vk;k gS A jksx vkSj mldk 'kjhj ds fofHkUu Hkkxksa ij izHkko] laØkeu jksxksa ds fo:) Vhdkdj.k] ty
dk mfpr iz;ksx] okgdksa dk fujkdjk.k] LoLFk Hkkstu dh O;oLFkk rFkk ty lEinkµ bu lcls ckjs esa tkudkjh vPNs LokLF; ds fy,
t:jh gS A

Balance diet, personal hygiene  & regular exercise are very important in maintaining good
health. Yoga has been practised since time immemoral to achieve physical & mental health.
Awareness about disease & their effect on different body functiojns. Vaccination against infection
disease,proper disposal of waste, control of vector  & maintenance of hygienic food & water
resources are necessary for acheving good health.

23- O;fDrxr~ LoPNrk dk D;k vFkZ gS A

(a) larqfyr vkgkj

(b) vius dks lkQ&lqFkjk j[kuk

(c) O;k;ke djuk
(d) vPNk LokLF; cuk;s j[kuk
Personal hygiene stands for
(a) Balance diet (b) taking exercise
(c) To keep one self neat ande clean. (d) To maintain good health.

24- okgdksa dk fcjkdj.k fd;k tk ldrk gS A

(a) izfrj{khdj.k (b) fu;fer O;k;ke djuk
(c) xanxh dk fuokj.k rFkk lanw"k.k ls jfgr Hkkstu (d) jksxksa ds ckjs esa tkudkjh
Contriol of vector can be achieved by
(a) Immunisation
(b) take regular exercise
(c) By proper disposal of
(d) Waste & taking contaminated  food diase.
(d) To make aware about disease.

25- larqfyr vkgkjk esa D;k gksrk gS A

(a) gkbZ izksVhu (b) bujhpsM foFk feujy
(c) dkWuVsu vkWy n uspqjy bu izksVhu (d) dSu ch MkbtsLVsM bftyh
Balance diet in one which contains  :
(a) high protein
(b) enriched with mineral
(c) Contains all the nutrients in propertion.
(d) Can be digested easly.
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SECTION-II
xSj&oLrqfu"B iz'u (NON-OBJECTIVE QUESTIONS) [42 Mark

y?kq mÙkjh; iz'u (Short Answer questions) :
funs Z'k % iz'u la[;k 1 ls 11 rd y?kq mÙkjh; iz'u gSaA bl dksfV ds izR;sd iz'u ds fy, nks vad fu/kZfjr gSa %

11 × 2 = 22

Instruction :  Q. No. 1 to 11 are Short Answer Type Questions. Every question is of 2 marks each.
1- eksusjk fdaxMe dk ikWap fo'ks"k y{k.k fy[ksa \

Enumate 5 features of kingdme Monera ?
2- fadaxMe QutkkbZ ds ikWap y{k.k fy[ksa \

Describe five feature of Kingdome Fungi ?
3- jsfM;y flfeVªh D;k gS A

Define radia symmetry.
4- Hkh Hkh isjh dks ifjHkkf"kr djsa \

Define viripary ?
5- ekbØksck;ksyksth ds firk fdudks dgk tkrk gS \

Who is father of Microbilogy ?
6- ekbØks dksdl dks fp= ds lkFk ifjHkkf"kr djsa A

What is Micrococcus ?
7- ,yxh fdls dgrs gSa A

Define alage ?
8- Mk;,Ve D;k gS A

What are diatomnes
9- dyh D;k gS ;s fdrus izdkj ds gksrs gSa A

What are buds ? Enumerate their types;.
10- yMiykTek ij ,d uksV fy[ksa A

Write a note on blood platelets
11- VsaMj ,oa yhxkesasV esa D;k varj gS A

Distignuish between Tender & legaments ?

nh?kZ mÙkjh; iz'u (Long Questions) : [3 × 5 = 15]

funs Z'k % iz'u la[;k 12 ls 15 rd nh?kZ mÙkjh; iz'u gSaA bl dksfV ds izR;sd iz'u ds fy, rhu vad fu/kZfjr
gSa %

Instructions :  Question No. 12 to 15 are long water type carrying 05 marks.
12- CyM Iyktek dk;Z dks fy[ksa A

List the important function of blood plasma ?

13- rsypV~Vk ds iztuu vax dk fp= cukdj mls ysoy djsa A

Sketch the reproductive system of Cockroach and level in properly.
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14- lsy eseojs.k ds dk;Z dks fy[ksa A

List ten important function of cell membrane.

Or, Nucleus  Ultrastructive ,oa dk;Z dk o.kZu vius 'kCnksa esa djsa A

Describe ultra struc ture & function of Nucleus.

15- XykbdksykbZVhd ikFkoZ esa Xywdkst ds ,d vUn ls fdrus ,- Vh- ih- ds mRifÙk gksrh gS A

How many total ATP Molecule are generated from one Mole glucose in glycolytic Pathway.

Or, Øso pØ dk o.kZu djsa A
Describe Kreb Cycle ?

A N S W E R
SECTION–I

oLrqfu"B iz'u (OBJECTIVE  QUESTIONS)

1. (d) 2. (b) 3. (d) 4. (a) 5. (c)

6. (b) 7. (b) 8. (a) 9. (a) 10. (b)

11. (c) 12. (a) 13. (a) 14. (c) 15. (c)

16. (a, b, c) 17. (a, c) 18. (a, c) 19. (d) 20. (a)

21. (c) 22. (b) 23. (c) 24. (c) 25. (c)
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MODEL SET—III

SECTION–I
oLrqfu"B iz'u (OBJECTIVE  QUESTIONS) [28 Mark

funs Z'k % çñ lañ 1 ls 22 rd ds ç'uks a es a pkj fodYi fn, x, gSa] ftuesa ls ,d lgh gS A lgh fodYi dk
pquko mÙkj rkfydk esa fpfÉr djsa A 1 × 22 = 22

Instruction : Q. No. 1 to 22 : In the following questions there are only one correct answer.
You have to choose that correct answer.

1. The algae attached to rock and stones are called :
(a) Samophytes (b) Limnophytes (c) Lithophytes (d) Leptophytes

2. Animals that lay eggs are :
(a) Oviparous (b) Ovaviviparous (c) Visciparous (d) None

3. Macromerism is the characteristic of :
(a) Perifera (b) Platyhelninthes (c) Mellusca (d) Annelida

4. Binomial nomenclature was introduced by :
(a) Carolous Linnalus (b) Huxley (c) Ol vries (d) john Ray

5. Solar energy is converted into ATP/chemical energy by :
(a) Mitochondria (b) Ribosome (c) Periscosome (d) Chleroplast

6. A membrane is lassing around :
(a) Lysosome (b) Nucleolus (c) Mitochondria (d) Plastid

7. Ginger is modification of :
(a) Stem (b) root (c) Leaf (d) None of these

8. Edible part of mango is :
(a) Receptacle (b) Epicarp (c) Mesocarp (d) Endocarp

9. Fungi are :
(a) Producers (b) Consumers (c) Reducers (d) None of these

10. If a solution outline a cell is much more concentrated than there is a loss of water to environment,
the external solution is said to be the cell contents :
(a) Hypotonic (b) Hypertonic (c) Isotonic (c) None of these

funs Z'k % iz'u la[;k 11 ls 15 rd fuEufyf[kr iz'uks a esa nks dFku fn, x, gSaA dFku&I ,oa dFku&II ls fn;s
x;s dFkuks a ds vk/kkj ij viuk mÙkj nsaA

Instructions : Q. No. 11 to 15  In the following questions there are two statements. Statement-
I follows Statements-II. You have to go through these statements and mark your
answer from the given questions.

(a) vxj nksuksa dFku lgh gS vkSj dFku II dFku I dh gh O;k[;k gSA
If both the statement are true & statement II is the correct explanation of Statement - I.
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(b) vxj nksuksa dFku lgh gS vkSj dFku II dFku I dh lgh O;k[;k ugha gS A
If both the statement are true & statement- II is not correct explanation of statement - I.

(c) vxj dFku I lgh gS vkSj dFku II xyr gS A
If statement - I is true and statement  - II is false.

(d) vxj dFku I xyr gS vkSj dFku II lgh gS A
If statement - I is false & statement - II is true.

11. Statement-I : A cell membrane show fluid behaviour.
Statement-II : A membrane is composite or mosaic.

12. Statement-I : Plants carry photosynthesis during day time only.
Statement-II : Animal being active in day release more co2 which acts as row material for
photosynthesis.

13. Statement-I : Gymnosperm donot produce fruits :
Statement-II : The ovule of gymnosperm are not inclosed within the ovary.

14. Statement-I : Frog neither hybernates nor aestivates.
Statement-II : Frog can control its body temperature.

15. Statement-I : Prokaryetic cell lack mitochondria.
Statement-II : There plasma membrane bears respiratory enzyme.

funs Z'k % iz'u la[;k 16 ls 18 rd fuEufyf[kr iz'uks a esa ,d ls T;knk lgh mÙkj gks ldrs gS aA vkidks lHkh lgh
mÙkjks a dks fpfUgr djuk gSA

Instructions :  Question No. 16 to 18 In the following question there may be more than
one correct answer. You have to mark all the correct options.

16. Antibodies fite against :
(i) Infaction (ii) Thirst (iii)Starvation (iv)Disease
(a) (i) and (ii) is correct (b) (i) and (iv) is correct
(c) (iii) is correct (d) (iii) and (ii) is correct

17. Enzymes are :
(i) Protein (ii) Lipid (iii)Carbohydrate (iv)Catalyst
(a) (i) and (iv) is correct (b) (ii) and (iii) is correct
(c) (ii) is correct (d) None of these

18. The function of Kidney in mammal is to excrete :
(i) Extra salt, urea (ii) Extra urea and extra water
(iii) Extra salt and extra sugar (iv)Excess water
(a) (i) and (ii) is correct (b)  (i) and (iv) is correct  (c)  (ii) and (iii) is correct  (d) All are correct

funs Z'k % iz'u la[;k 19 ls 22 rd fuEufyf[kr iz'uks a es a fodYi gS igys pkj iz'u gS] dkWye–I ,oa dkWye–
II esa vkidks lgh fodYi dk pquko djuk gSA

Instructions :  Question No. 19 to 22 In the following questions there are two columns the
columns - I contains 4 questions, you have to watch the correct options.
dkWye (Column)–I dkWye (Column)–II

19. Cockroach (a) Betel nut.
20. Berry (b) Binomial Nomenclature
21. Mitosis (c) Malpighias tubules
22. Carolous hinnaeus (d) Equational division.
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funs Z'k %  iz'u la[;k 23 ls 25 rd fuEufyf[kr iz'uks a es a ,d m¼j.k fn;k x;k gSA vki m¼j.k dks è;ku ls
i<+s a rFkk mlds ckn fn, x, iz'uks a dk lgh mÙkj fn, x, fodYi ls pqus aA 2 × 3 = 6

Instructions :  Question No. 23 to 25 In the following questions followed by a paragraph,
you have to go through the paragraphs & them answer the given questions from
given choices.

Excretion of ammonia to climinate extra nitrogen from the body is called Ammonotelism and
animal exerting ammonia as their nitrogenous wastes are referred to as ammonotelic. Ammonia is
the basic metabolic waste of proteins. It is highly soluble in water and is highly taxic. In marine
invertebrate its concentration its concentration in body fluids ranges from 0.4 mg to 4.8 mg per 200
ml. If its concentration exceeds, that it shold be fatal Foreover, a large amount of water is required for
dissolving ammonia and for its elimination. Thus only aquatic animals an offered its elimination.

23. Aquatic animal shows ammonotelism because :
(a) They line in water (b) They iliminate excess water material
(c) They drinks large amount of water (d) Ammonia is highly soluble in water.

24. Ammonia is :
(a) Non-poisonous (b) Little-poisonous c) Highly-poisonous (d)Poisonous

25. Anmonatelism is the basic characteristic of :
(a) Inverteprate (b) Vertebrate (c) Organism (d)Aquatic animals.

SECTION-II
xSj&oLrqfu"B iz'u (NON-OBJECTIVE QUESTIONS) [42 Mark

y?kq mÙkjh; iz'u (Short Answer questions) :
funs Z'k % iz'u la[;k 1 ls 11 rd y?kq mÙkjh; iz'u gSaA bl dksfV ds izR;sd iz'u ds fy, nks vad fu/kZfjr gSa %

11 × 2 = 22

Instruction :  Q. No. 1 to 11 are Short Answer Type Questions. Every question is of 2 marks each.
1. What is C4-pathway ?
2. What is parthenocarpic fruit ?
3. Write a short note on ribosome ?
4. What is peptic bond ?
5. What is auxin ?
6. What is ATP ?
7. Name the endocryne glands of the body.
8. Explain Mituration.
9. What is mans by the term osmoregulation ?
10. Difficult between s-phase and G2-phase.
11. Define placentation.
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nh?kZ mÙkjh; iz'u (Long Answer questions) :
funs Z'k % iz'u la[;k 12 ls 15 rd mÙkjh; iz'u gSaA bl dksfV ds izR;sd iz'u ds fy, ik¡p vad fu/kZfjr gSa %

4 × 5 = 20
Instruction :  Q. No. 12-15 are of Long Answer Type Question. Every question are of 5 marks each.

12. What is Meristem ? What is difference between primary and secondary meristem ?

13. What is cell-division ? Give significance of Mitosis ?

14. Explain esmosis ? How it is related to the life of plant ?

15. What do you mean by photo phosphorylation ?

Or,

Describe the ultrastructure and function of Mitochondria ?

A N S W E R
SECTION–I

oLrqfu"B iz'u (OBJECTIVE  QUESTIONS)

1. (c) 2. (a) 3. (d) 4. (a)   5. (d)

6. (b) 7. (a) 8. (c) 9. (c) 10. (b)

11. (b) 12. (b) 13. (a) 14. (d) 15. (a)

16. (b) (i) and (iv) 17. (a) (i) and (iv) 18. (b) (i) and (iv) 19. (c) 20. (a)

21. (d) 22. (b) 23. (d) 24. (c) 25. (d)
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MODEL SET—IV

SECTION–I

oLrqfu"B iz'u (OBJETIVE  QUESTIONS) [28 Mark

funs Z'k % çñ lañ 1 ls 22 rd ds ç'uks a es a pkj fodYi fn, x, gSa] ftuesa ls ,d lgh gS A lgh fodYi dk
pquko mÙkj rkfydk esa fpfÉr djsa A 1 × 22 = 22

Instruction : Q. No. 1 to 22 : In the following questions there are only one correct answer.
You have to choose that correct answer.

1. Five kingdom classification was proposed by :
(a) Linnaeus (b) John Ray (c)Whittaker (d) Lamarck

2. Genetic material of virus may be :
(a) DNA (b) RNA (c)DNA and RNA (d) DNA or RNA

3. Mode of digestion in sponges is :
(a) Intracellular (b) Intercellular

(c) Both (d)Neither Intracellular nor Intercellular
4. Wuchererid bancrofti (filariasis/Elephantiasis) is transmitted by :

(a) Sandfly (b) Tstesfly (c)Anopheles mosquito(d) Culex mosquito
5. Rearing of silkworm is called :

(a) Apiculture (b) Pisciculture (c)Sericulture (d) Horiculture
6. Mode of nutrition in algae is :

(a) Heterotrophic (b)Chemoautotrophic
(c) Saprotrophic (d)Photoautotrophic

7. Which of the following plants produces seed but not fruits ?
(a) Maize (b) Mint. (c)Peepal (d) Pinus

8. Vessels are the major water conducting system in :
(a) Dictor only (b) Monocot (c)Angiosperm (d) Gymnosperm

9. Natural system of classification was proposed by :
(a) Linnaeus (b)Hutchinson
(c) Bentham & Hooker (d)Engier & prantl

10. Dudhwd National park is situated in :

(a) UP (b) MP (c)Bihar (d) Orissa
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funs Z'k % iz'u la[;k 11 ls 15 rd fuEufyf[kr iz'uks a esa nks dFku fn, x, gSaA dFku&I ,oa dFku&II ls fn;s
x;s dFkuks a ds vk/kkj ij viuk mÙkj nsaA

Instructions : Q. No. 11 to 15  In the following questions there are two statements. Statement-
I follows Statements-II. You have to go through these statements and mark your
answer from the given questions.

(a) vxj nksuksa dFku lgh gS vkSj dFku II dFku I dh gh O;k[;k gSA
If both the statement are true & statement II is the correct explanation of Statement - I.

(b) vxj nksuksa dFku lgh gS vkSj dFku II dFku I dh lgh O;k[;k ugha gS A
If both the statement are true & statement- II is not correct explanation of statement - I.

(c) vxj dFku I lgh gS vkSj dFku II xyr gS A
If statement - I is true and statement  - II is false.

(d) vxj dFku I xyr gS vkSj dFku II lgh gS A
If statement - I is false & statement - II is true.

11. Statement-I : Meiotic division 4 dissimilar cells.
Statement-II : Synapsis and C. O. occur in zygotene and pachytene of meosis-I of prophase.

12. Statement-I : New name of family Grominae is poaceae.
Statement-II : It is a/c to International code of Botanical nomenclature. the suffix of family should be
aceae.

13. Statement-I : Homeothermy provides faster metabolism.
Statement-II : Enzyme functions quickly with rise in termp.

14. Statement-I : Tapeworm & Roundworm are endoparasite of humour Intestine.
Statement-II : Food cooked in improper way is the source of infection.

15. Statement-I : fungi grow in dark, moist places.
Statement-II : They do not requires light for photosynthesis.
In following question (Q. No. 16 to Q. No. 18) there may be more than correct answer. You have to
mark all the correct options.

funs Z'k % iz'u la[;k 16 ls 18 rd fuEufyf[kr iz'uks a esa ,d ls T;knk lgh mÙkj gks ldrs gS aA vkidks lHkh lgh
mÙkjks a dks fpfUgr djuk gSA

Instructions :  Question No. 16 to 18 In the following question there may be more than
one correct answer. You have to mark all the correct options.

16. (i) Radicle (ii) Tegmen (iii) Plumule (iv)Hypototyl
(a) All correct (b) (ii) & (i) is correct (c) All incorrect (d) (iv) & (iii) is correct

17. jkbckslkse cuk gksrk gS %

(i) DNA vkSj çksVhu (ii) RNA (iii) dsoy çksVhu (iv)çksVhu
(a) lHkh lgh (b) (i) vkSj (ii) lgh gS (c) lHkh xyr (b) (iii) vkSj (iv) lgh gS
Ribosomes are composed of :
(i) DNA and protein (ii) RNA (iii) Protein only (iv)Protein
(a) All correct (b) (i) & (ii) is correct (c) All incorrect (d) (iii) & (iv) is correct

18. A prokaryotic structure is :
(i) Bacteria (ii) Archi bacteria (iii) All (iv)Blue-green algae
(a) (i) & (ii) is correct (b) (i) & (iii) is correct (c) (iv) is correct (d) (ii) is correct
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funs Z'k % iz'u la[;k 19 ls 22 rd fuEufyf[kr iz'uks a es a fodYi gS igys pkj iz'u gS] dkWye–I ,oa dkWye–
II esa vkidks lgh fodYi dk pquko djuk gSA

Instructions :  Question No. 19 to 22 In the following questions there are two columns the
columns - I contains 4 questions, you have to watch the correct options.
dkWye (Column)–I dkWye (Column)–II

19. Microtubules (a) Earthworm
20. Periderm (b) Dicot stem
21. Metomeric segmentation (c) Tublin
22. Amitosis (d) Direct Division

funs Z'k %  iz'u la[;k 23 ls 25 rd fuEufyf[kr iz'uks a es a ,d m¼j.k fn;k x;k gSA vki m¼j.k dks è;ku ls
i<+s a rFkk mlds ckn fn, x, iz'uks a dk lgh mÙkj fn, x, fodYi ls pqus aA 2 × 3 = 6

Instructions :  Question No. 23 to 25 In the following questions followed by a paragraph,
you have to go through the paragraphs & them answer the given questions from
given choices.

Osmosis may be defined ds diffusion of water or solvent from d solution of lower concentration
to higher concentration of solute through a semipermeable membrane. In all biological system solvent
is in the form of water cells are osmotic-sytem. The cell membrane is semipermeable and water
enters or leaves the cell by osmosis. The osmotic environment around the cell may be explained in
the term of tonicity. If is pressure of a soln developed due to pressure or presence of solute.

23. All cell membranes are :
(a) permeable (b) Selective permeable (c) Semipermeable (d)Wonpermeable

24. Tonicity may be explained as :
(a) pressure (b) Environment (c) Tension (d)None

25. Diffusion of solvent through semi-permeable membrane is called :
(a) Dialysis (b) Diffusion (c) Osmosis (d)Active transport

SECTION-II
xSj&oLrqfu"B iz'u (NON-OBJETIVE QUESTIONS) [42 Mark

y?kq mÙkjh; iz'u (Short Answer questions) :
funs Z'k % iz'u la[;k 1 ls 11 rd y?kq mÙkjh; iz'u gSaA bl dksfV ds izR;sd iz'u ds fy, nks vad fu/kZfjr gSa %

11 × 2 = 22

Instruction :  Q. No. 1 to 11 are Short Answer Type Questions. Every question is of 2 marks each.
1. What is Photorespiration ?

çdk'k 'olu D;k gS \
2. What is tissue ?

mÙkd D;k gS \
3. What are marcromolecules ? Give example.
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4. Explain Micturiton ?
5. What Geometric growth ?
6. What is Glycolysis ?

Xykbdksykblhl D;k gS \

7. Define RQ ?
RQ dks ifjHkkf"kr djsa A

8. What is go of cell-cycle ?
9. Explain the function of Nephridia ?
10. Name of least 5 natural plant growth regulators ?
11. Differentiate between open & closed system of circulation ?

vUrj crk,¡µ[kqyk ,oa can ifjlapj.k rU=k

nh?kZ mÙkjh; iz'u (Long Questions) : [3 × 5 = 15]

funs Z'k % iz'u la[;k 12 ls 15 rd nh?kZ mÙkjh; iz'u gSaA bl dksfV ds izR;sd iz'u ds fy, rhu vad fu/kZfjr gSa %
Instructions :  Question No. 12 to 15 are long water type carrying 05 marks.
12. Describe Kreb Cycle.

Kreb Cycle dk o.kZu djsa A
13. Define inflorescence. Explain Racemose type of inflorescence in flowering plant.
14. Describe significance of omitosis ?

v/Zlw=kh foHkktu ds egRo dks crk,¡ A
15. Describe the properties of Enzymes.

Or, What is vascular bundle ? What is its function ? Describe different types of  V. bundle
Or, What is Osmoregulation ?

A N S W E R
SECTION–I

oLrqfu"B iz'u (OBJETIVE  QUESTIONS)

1. (c) 2. (d) 3. (a) 4. (b)   5. (c)

6. (d) 7. (d) 8. (c) 9. (c) 10. (a)

11. (a) 12. (a) 13. (a) 14. (c) 15. (a)

16. (a) & (c) 17. (d), (c) & (d) 18. (c), (d) 19. (c) 20. (b)

21. (a) 22. (d) 23. (b) 24  (a) 25. (b)
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1. Name (in BLOCK letters) /  uke (Nkis ds v{kj esa)

2. Date of Exam / ijh{kk dh frfFk

3. Subject / fo"k;

4. Name of the Exam Centre /  ijh{kk dsUæ dk uke

5. Full Signature of Candidate /  ijh{kkFkhZ dk iw.kZ gLrk{kj

6. Invigilator's Signature / fujh{kd dk gLrk{kj

OMR  ANSWER  SHEET OMR mÙkj i=k

ijh{kk 2009
OMR  NO.

Instructions :
1. All entries should be confined to the area provided.
2. In the OMR Answer Sheet the Question Nos. progress

from top to bottom.
3. For marking answers, use BLACK/BLUE BALL POINT

PEN ONLY.
4. Mark your Roll No. Roll Code No. Name of Exam. Centre

in the boxes/space provided in the OMR Answer Sheet.
5. Fill in your Name, Signature, Subject, Date of Exam, in

the space provided in the OMR Answer Sheet.
6. Mark your Answer by darkening the CIRCLE completely,

like this.
Correct Method Wrong Methods

A B C D A C D
A C D
A C D

7. Do not fold or make any stray marks in the OMR Answer
Sheet.

8. If you do not follow the instructions given above, it may be
difficult to evaluate the Answer Sheet. Any resultant loss
on the above account i.e. not following the instructions
completely shall be of the candidates only.

funsZ'k %

1. lHkh çfof"V;k¡ fn;s x;s LFkku rd gh lhfer j[ksa A

2. OMR mÙkj i=k esa ç'u la[;k Øe'k% mQij ls uhps dh vksj nh xbZ gSA

3. mÙkj dsoy dkys@uhys ckWy IokbaV isu }kjk fpfÉr djsa A

4. viuk jksy uañ jksy dksM uañ] ijh{kk dsUæ dk uke OMR mÙkj i=k ls
fufnZ"V [kkyh@LFkkuksa esa@ij fy[ksa A

5. OMR mÙkj i=k esa fu/kZfjr LFkku ij viuk uke] gLrk{kj] fo"k; ijh{kk
dk fnukad dh iwfrZ djsa A

6. vius mÙkj ds ?ksjs dk iw.kZ :i ls çxk<+ djrs gq, fpfÉr djsa A

  lgh fof/       xyr fof/;k¡

A B C D A C D
A C D
A C D

7. OMR mÙkj i=k dks u eksM+sa vFkok ml ij tgk¡&rgk¡ fpÉ u yxk,¡ A

8. mQij fn;s x;s funsZ'kksa dk ikyu u fd, tkus dh fLFkfr esa mÙkj i=kksa dk
ewY;kadu djuk dfBu gksxk A ,sls esa urhts dh nf̀"V ls fdlh Hkh çdkj
dh {kfr dk ftEesnkj dsoy ijh{kkFkhZ gksxk A

For answering darken the circles given below / mÙkj ds fy, uhps vafdr ?ksjs dks çxk<+ djsa A

7.  Roll Code/ jksy dksM 7.  Roll Number/ jksy la0

1. A B C D
2. A B C D
3. A B C D
4. A B C D
5. A B C D
6. A B C D
7. A B C D
8. A B C D
9. A B C D

10. A B C D
11. A B C D
12. A B C D
13. A B C D

14. A B C D
15. A B C D
16. A B C D
17. A B C D
18. A B C D
19. A B C D
20. A B C D
21. A B C D
22. A B C D
23. A B C D
24. A B C D
25. A B C D
26. A B C D

27. A B C D
28. A B C D
29. A B C D
30. A B C D
31. A B C D
32. A B C D
33. A B C D
34. A B C D
35. I. A B C D

II. A B C D
III. A B C D

Or, I. A B C D
II. A B C D
III. A B C D


